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The figures in the margin indicate full marks for the questions

ALLOTMENT OF MARKS

PART—A / Reti—=

Q. No. 1(a—~f) carries 1 mark each ; 1x6= 6
Q. No. 2( a—f ) carries 2 marks each - 2x6 =12
Q. Nos. 3-7 carry 4 marks each - 4x5 =20
Q. Nos. 8 & 9 carry 6 marks each : : 6%2 = 12
Total = 50
PART—B / Ret—3

Q. No. 10( a—f ) carries 1 mark each : 1x6= 6
Q. No. 11{ a—f) carries 2 marks each : 2%6 = 12
Q. Nos. 12-16 carry 4 marks each : 4x5 =20
Q. Nos. 17 & 18 carry 6 marks each - 6x2 =12
Total = 50

Total (PART—A & PART—B) 50+50=100
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PART—A
Rei—=

( Introductory Microeconomics )

1. Answer the following as directed : 1x6=6

o7 frfees ot s Bee finm

(a) Define the term ‘scarcity’.

“reefieTel’Y S o o
(b) Opportunity cost is also known as cost.
(Fill in the blank)
B QIRISILE T4 e o= I[ |

(A 31 =7 F90)
(c) What is budget line?

L @ =2

(d) Define variable cost.

“fRgSTTe IR A W2 |

(e) TC = + TFC.

(Fill in the blank)
(1R 3% *[7 F0)

() Why is the AC curve U’ shaped?
AC @9reE ‘U wighes =12
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2. Answer the following questions : 2x6=12
I 2PPTYRY Te] o
(a) Distinguish between microeconomics and macro-
economics. 2
AW = ANBAM LRI T 2N o4 |
Or / ST

What are the central problems of an economy?

YIS QR FEW FETERn 7 =2
(b) Write two determinants of individual demand. 2
Jfsrs wifzn MR 751 Seme fo |
Or / =41
What is inferior good? Give one example. 1+1=2

298 w31 & 2 b1 Tz fwan |

(c) Define the following : 1+1=2
wore TR sige fuan

(i) Total product
o Seom

(ii) Marginal product
ATIT TRAMH

Or / 91

Briefly explain the concepts of short run and long run.
1+1=2

ZTE SF TP 9N PR TS I
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(d) Distinguish between fixed cost and variable cost. 2
& 0 o ~fRTSaRe Iw Ao o2l B |

Or / T3

Draw a long-run marginal cost curve and long-run average
cost curve. 1+1=2

TR oNEF T @ TF LA 1S F9 @ SRFA 341 |

(e) What is the relationship between AR and MR? 2
ST SN HIF BT TR &S o 2

Or / 91

Prove that for a firm, price = average revenue.

a1 39 R @A 999 AfSPRR AR, 7 = 51% W |

(f) Write two factors that affect the market supply of a
commodity. 2

) QB ISR (WSS 2SR (TR K51 4R forr |
Or / ST

If the percentage change in quantity supplied is 10 and
percentage change in price is 4, calculate price elasticity of
supply.

M AND GBR TN RIS 4 oI WE @R RS 10 o
T, (R vy RfSwioreer R F11
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3. Explain the law of diminishing marginal utility with the

help of schedule and diagram. 4
iRl S foas wzre @grmE aAfes Secafarer RiFeor wm w4 )
Or / 977
Define price elasticity of demand. Mention any three
factors influencing price elasticity of demand of a
commodity. 1+3=4
PIRvR W Rfowreer e @ @ @R v W RiSwrreee
srerfde 91 A ciea1 fofRor Some Teay 41 |
4, What is meant by returns to a factor? State the three
phases of the law of variable proportions. 1+3=4
o @B aAfore e g2 s Seere Ritw w1 fofn
TeE 41 '
Or / 9«1 _

From the data given below, calculate (a) marginal cost and
(b) average cost : 2+2=4
wore A SYAIe™ *[/1 (o) AT I <F (b) TC I N F0

Output 12|34 |5|6|7]|8

el

Total cost (¥) |10|20|28 (34|38 42|48 |56

9 374 (531)

5. Mention four features of perfect competition. 4

oj¢f 2fSTaIFToTeTe IQES BIR6T LafBy TCay F1 |

Or / 9=

Distinguish between monopoly market and monopolistic
market.

ST TR W GFRPR S PEAT T A& N4y o |
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6. Distinguish between price ceiling and price floor. 4
wive T T wF fw Jiw R onw fw
Or / 821
Mention the effects of the following on the supply of a
commodity : 2+2=4
(a) Fall in the price of factors
(b) Rise in the per unit tax

b1 TR 19T GO TeTo S(ey FAPHRI deid Sy 941 ¢

(a) TAMIYZI W I
(b) oS 9T TS 9 I

7. How does imposition of per unit tax affect supply curve of
a firm? 4
GFF I JEARA ARSI @A [P (A SIS T 2

Or / 991
The demand and supply functions of a firm under
perfectly competitive market are given below :
D=5-2P
S=-25+3P
Where, P = Price, D = Quantity Demanded and
S = Quantity Supplied.

Find the equilibrium price and quantity. -2+2=4
o afSraioree IR AP 4= TR WIF @S Fo Tere fum
SAREEH

D=5-2P

S=-25+3P

TS, P =%N, D =NAQ SIR0 F S =ANIq Q@9 |
SRANS WIS S AAR_e ey 9111
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8. What is consumer equilibrium? Explain the conditions of
consumer equilibrium with the help of schedule and
diagram. 1+5=6
TSIER SISl 2 4B TR (TS TNSER STl (FET oIS
N W, S0 F Bag T=ms e 747 |

Or / a1
Discuss how the market demand curve is derived from
individual demand curves. , 6
fssre ofdm @R /1 (@R IR IR {W WiE@T R 4l
HICEAEA =91 |

9. “Under perfect competition, industry is price maker and
firm is the price taker.” Explain. 6

“opef efScfarenEre TaRe Srurs (R W F{RITR] o AfevE (=’ ™
SRR 1”7 0T '

Or / 9<=1

With the help of a suitable diagram, explain the process of
determination of equilibrium price of commodity under
perfectly competitive market.

Ty Boas s1Es o AfSraiense T@Re 79 bR SR TN RdReR
2IfeFRICET Q10T P40

PART—B
Ter—
( Statistics for Economics )

10. Answer the following as directed : 1x6=6
wero frafReed (Ao SRpilR e fam -

(@) Who is known as the father of statistics?
e BES <P [Rwme #rp B s a2
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(b) What do you mean by wholesale price index?
*IEIA 7 PRSP erce & g@n?

(c) Write one merit of direct personal investigation.

oors AfEsTS WPTAHT Qo1 Ry B

(d) Which of the following is a measure of central
tendency?

THA (FIACH] AT (TR 2ATOR o g R 2
(i) Arithmetic mean
sfafes sre
(i) Median
RAIR
(i) Mode
AP

(iv) All of the above
B AICAR
(Choose the correct option)

(wm Rescs! Ife Srear)

(e) is the difference between the largest value and
the smallest value.

(Fill in the blank)

Y AR IFRRE Twoey WE Hgey W@ Qe |
(Y 312 =7 F1)

(f) What is Lorenz curve?

RG @A 2
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11. Answer the following questions : 2x6=12
ST 2PPTIRY el o

(a) Define the term ‘statistics’ in plural and singular
sense. 2

IR JF 9T LS “AAf e’y gt |
Or / H<T

Write two importances of statistics in economics.

R RN 15 g B |
(b) Write two characteristics of statistics. 2
ARRYNR qB1 ¢y =i o
Or / 9«1

Mention any two limitations of statistics.

“ficE R @I 101 omel Sad 341 |

(c) Calculate range and coefficient of range from the
following data :
TR SARIEA #9127 WIF AR eI 51 0

2

8, 12, 18, 22, 13, 20
Or / 311

Write two demerits of range.
SR 01 SPYRY =i
(d) Mention two merits of median. 2

NS o1 R fe o
Or / 91

Write the formula of calculating median in continuous
frequency distribution.

Wz IR o™ CFas T 1= S@cs! &9 1
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(e) State two demerits of standard deviation. 2
T Roer=d 751 SejfRy SeEe 341 |
Or / 937

Mention four alternative methods for calculation of
standard deviation in discrete series.

fRftzy IREIRE Rl cFvae T [oaw mR [{em </afe oIk
TCEY 391 |

(/ What is scatter diagram? Write one merit of scatter

diagram. 1+1=2
e g -m=fS & 2 TR @b R o
Or / 41
What is arithmetic line graph? Mention one of its uses.
1+1=2

SRR (AT @Y 7 TR 91 9T} TeEy 790

12. Write four main parts of a good table. 4
S SIfeRe @B BIRET 2 =i fora o '
Or / S<71
Define sampling errors. Mention its main types. 1+3=4

A A B ke A 1 W [ AFRCER &6

13. What is diagrammatic presentation? How is it useful in
economic analysis? 1+3=4

T ol Temrer 0 wtafes Rersee TR SNl (eI ?
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Or / HYq7

Draw a histogram and polygon from the following table :

2+2=4
T BIFIAR 211 BN TF IZGS S 4 -
Marks obtained |10-20({20-30|30-40{40-50|50-60({60-70
IEER
No. of students 10 12 16 20 18 o
RIG-RIGI F3
14. Define arithmetic mean. Discuss its properties. 1+3=4
SRS srex Figee fwal | Zq= (IFRPTR SCen-T 4 |
Or / J=[T
Calculate quartile deviation from the following table : 4
©El] O #[{1 DY Roa I s1e 1
X 1 2 3 4 5 6 7
Y | 30| 38| 50 | 22 | 40 | 25 | 60

15. What is dispersion? Discuss the characteristics of a good
measure of dispersion.

Rewota e 1 2 s Ressora o) IPFBPTR Sean-n <041 |
Or / 3241

1+3=4

Distinguish between absolute and relative measure of
dispersion.
ReFoeR o/ ol S ARARFS ToR— e =12 o |

16. What are

tendency?

Jef (FER 2T o[ AcaEAereR [ &2
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essentials of a good measure of central

4
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Or / 831
Define correlation. Discuss its main types. 1+3=4

TRTFEI W@ il | WA 241 2R, SO |

What do you mean by primary data? Explain the different
methods of collecting primary data. 1+5=6

2 B e B 6 @ 2 2AfF o ey [ifw erafesnz Sees
0
Or / {1

Define classification. Describe briefly its main objectives.
1+5=6

CeARFRer Siewl Tl | TR Y SO B ey 4 |

Explain the meaning and importance of index numbers.
2+4=6

F YR Y W $FeI Ry nam 341 |
Or / <1

Calculate the mean, median and mode from the following
frequency distribution : 2+2+2=6

oS ol qReAIel Reweme i e sre, T4 Wi 320F e <5

Class _

interval |20-25|25-30|30-35|35-40|40-45|45-50(|50-55 55-60
T ST -
Frequency | 7 9 11 28 | 30 | 22 7 5
SIS

* % %
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